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Section : Technical_Electrical Engineering 
 

Q.1  

Ans A.  

 B.  

 C.  

 D.  

 
Question ID : 8970322404 

Status : Answered 

Chosen Option : 3 

Q.2 

 

Which of the following control devices is used to provide protection against accidents by rapidly interrupting 
dangerous contact voltages that may be present in the faulty electrical equipments as a result of ground faults, 
insufficient 
 

Ans A.  

 B.  

 C.  

 D.  

Question ID : 8970322508 

Status : Answered 

Chosen Option : 4 

Q.3  

Ans  A.  

 B.  

 C.  

 D.  

                                                                                                                 Question ID : 8970322439 

Status : Answered 

Chosen Option : 1 

Q.4  

Ans 
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Test Center Name 

Test Date 25/11/2019 

Test Time 9:00 AM - 12:00 PM 

Subject Junior Engineer Trainee Electrical 
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Question ID : 8970322432 

Status : Answered 

Chosen Option : 2 

Q.5  

Ans   A.  

 B.  

 C.  

 D.  

 
Question ID : 8970322470 

Status : Answered 

Chosen Option : 1 

Q.6  

Ans A.  

B. 

 

 
C. 

 

D.  

Question ID : 8970322545 

Status : Not Answered 

Chosen Option : -- 

Q.7  

Ans   A.  

 B.  
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 D.  

 
Question ID : 8970322444 

Status : Answered 

Chosen Option : 4 

Q.8  

Ans   A.  

 B. 
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Question ID : 8970322492 

Status : Not Answered 

Chosen Option : -- 

Q.9  

Ans A.  

B.  

C.  

D.                                                              Question ID : 8970322420 

Status : Answered 

Chosen Option : 1 

Q.10  

Ans A.  

B.  

C.  

D.                                   

Question ID : 8970322525 

Status : Answered 

Chosen Option : 3 

Q.11 There exist three terminals in a relay called C, NO, NC. In an application, it is desired that whenever the relay is 
active the load must be connected to supply, otherwise the load will be disconnected from supply. Which of the 
following connection type in relay will provide solution to the stated problem? 
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D.  

Question ID : 8970322506 
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Chosen Option : 3 
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Ans A.  
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Status : Answered 

Chosen Option : 4 
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 Question ID : 8970322466 
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Chosen Option : 3 
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Question ID : 8970322547 

Status : Answered 

Chosen Option : 3 
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Question ID : 8970322476 

Status : Answered 

Chosen Option : 3 
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Status : Answered 

Chosen Option : 3 
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Question ID : 8970322427 

Status : Answered 

Chosen Option : 2 
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C.  

D.                                                                                       Question ID : 8970322409 

Status : Answered 

Chosen Option : 2 
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Ans 

Question ID : 8970322464 

Status : Answered 

Chosen Option : 2 
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Ans  A. 
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 C.  

 D.                                                                                                 Question ID : 8970322535 

Status : Answered 

Chosen Option : 3 

Q.21  

Ans A.  

 B.  

 C.  

D.                                                                                        Question ID : 8970322493 

Status : Answered 

Chosen Option : 3 

Q.22 Three capacitors of 2 μ F, 5 μF and 10 μF have breakdown voltage of 200 V, 500 V and 100 V 
respectively. The capacitors are connected in series and the applied direct voltage to the circuit is gradually 
increased. Determine the total applied voltage at the point of breakdown. 
 
 

Ans  A.  

 B.  

 C.  

 D.                                               
Question ID : 8970322469 

Status : Answered 

Chosen Option : 4 
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Status : Answered 

Chosen Option : 4 
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Q.25 If A and B are the logical inputs to the following circuit, determine the logical relation between the 
inputs and the output X. 

Ans  A.  

 B.  

 C.  

 D.  
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Status : Not Answered 

Chosen Option : -- 

Q.26  
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Question ID : 8970322419 
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Chosen Option : 1 
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Question ID : 8970322537 

Status : Answered 

Chosen Option : 4 
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Question ID : 8970322423 

Status : Answered 

Chosen Option : 1 
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Question ID : 8970322454 

Status : Answered 

Chosen Option : 4 

Q.33  

Ans 

Question ID : 8970322462 

Status : Answered 

Chosen Option : 4 

Q.34  

Ans A.  

B.  

C.  

D. read inputs, execute the control program and update outputs 

 
 

 
Question ID : 8970322445 

Status : Answered 

Chosen Option : 4 
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Q.36 
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Status : Answered 
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Question ID : 8970322549 

Status : Answered 

Chosen Option : 2 

 Q.39 The heat curve in a motor is given as 6-(1-e). The heating time constant of motor is defined as the time required 

to heat up the motor upto: 
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Question ID : 8970322498 

Status : Answered 

Chosen Option : 2 

Q.40  

AnsQuestion ID : 8970322461 

Status : Answered 

Chosen Option : 4 

Q.41 The input waves of a logic block A, B provide the logic output X. Identify the logic operation performed by the logic block. 
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Chosen Option : 1 
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Chosen Option : 1 
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Status : Answered 

Chosen Option : 1 

 

Question ID : 8970322495 
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Chosen Option : 2 
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Question ID : 8970322447 

Status : Not Answered 

Chosen Option : -- 
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Question ID : 8970322512 

Status : Answered 

Chosen Option : 2 
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 D.  

Question ID : 8970322514 

Status : Answered 

Chosen Option : 4 
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Ans A.  

 B.  
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Question ID : 8970322494 

Status : Answered 

Chosen Option : 2 
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Question ID : 8970322437 

Status : Answered 

Chosen Option : 2 
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Question ID : 8970322438 

Status : Answered 

Chosen Option : 3 
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Question ID : 8970322411 

Status : Answered 

Chosen Option : 4 
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Question ID : 8970322436 

Status : Answered 
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Question ID : 8970322459 

Status : Answered 

Chosen Option : 4 

Q.76  

AnsA. Salient pole rotor type: - causes speed fluctuation and suitable for high-speed operation. 

Cylindrical rotor type: - causes no speed fluctuation and suitable for low-and medium-speed operation. 

B. Salient pole rotor type: - causes speed fluctuation and suitable for low-and medium-speed operation. 
Cylindrical rotor type: - causes no speed fluctuation and suitable for high-speed operation.  
C. Salient pole rotor type: - causes no speed fluctuation and suitable for high-speed operation. 
Cylindrical rotor type: - causes speed fluctuation and suitable for low-and medium-speed operation. 
 
D. Salient pole rotor type: - causes no speed fluctuation and suitable for low-and-medium speed operation. 
Cylindrical rotor type: -                         causes speed fluctuation and suitable for high-
speed operation. 
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Chosen Option : 1 
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Chosen Option : 2 

Q.92  

Ans   A.  

B.  

 C.  

D.  

Question ID : 8970322533 

Status : Answered 

Chosen Option : 3 
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Chosen Option : 1 
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Question ID : 8970322405 
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Chosen Option : 3 

Q.98  
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 C.  

 D.  

Question ID : 8970322424 

Status : Answered 

Chosen Option : 3 

Q.99 The initial temperature of machine is 45 °C. Calculate the temperature of machine after 1.2 hours, if 
its final steady temperature rise is 85 °C and the heating time constant is 2.4 hours. Consider ambient 
temperature ass 25° C. 
Ans A.  

B.  

C.  

D.  

Question ID : 8970322497 

Status : Answered 

Chosen Option : 2 

Q.100  
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C.  
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Q.101  

Ans A.  

 B.  

 C.  

D.  

Question ID : 8970322430 

Status : Answered 

Chosen Option : 2 

 
Ans  

 
Ans 

A. 1-OCC, 2- Internal Characteristics, and 3- External characteristics  
B.  1- Internal Characteristics, 2-OCC, and 3- External characteristics 

C.   1-External Characteristics, 2-OCC, and 3-Internal characteristics 

D.  1-OCC, 2-External Characteristics, and 3-Internal characteristics 

 
Question ID : 8970322520 
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 C.  
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Question ID : 8970322406 

Status : Answered 

Chosen Option : 3 
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Ans   A.  

 B.  

 C.  
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Question ID : 8970322403 

Status : Answered 

Chosen Option : 1 

Q.107  

Ans A. almost an empty conduction band and almost filled valence band with a very narrow energy gap between the conduction          
and valence band 

 

 
B. almost an empty conduction band and almost filled valence band with a very high energy gap between the conduction and valence 
band 
C almost an empty conduction band and low filled valence band with a very narrow energy gap between the conduction and 
valence band. 
D. almost full conduction band and almost filled valence band with a very narrow energy gap between the conduction and valence 
band 
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Q.108  

Ans A.  
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Question ID : 8970322443 
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Question ID : 8970322550 

Status : Answered 

Chosen Option : 3 

Q.110 A 100 MW steam station uses coal of calorific value 6400 kcal/kg. Thermal efficiency of the station 
is 30% and electrical efficiency is 92%. Find the overall efficiency of the plant. 

 
Ans   A.  

 B.  

 C.  

 D.  

                                                            Question ID : 8970322489 
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Ans   A. 

B.  

C.  

D.  

Question ID : 8970322442 

Status : Answered 

Chosen Option : 2 

Q.112 _____is an electromechanical device that consists of an actuator mechanically linked to a set of 

contacts. When an object comes into the contact with the actuator, the device operates the contacts to 
make or break an electrical connection. 
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B.  

 C.  

 D.                                          Question ID : 8970322503 

Status : Answered 

Chosen Option : 4 

 
Ans A.  
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C.  

D.                                   Question ID : 8970322422 

Status : Answered 

Chosen Option : 1 

Q.114 Let w be the weight per unit length of the conductor, H be the horizontal tension, and I be 
the span length, then the sag in a freely suspended conductor is determined as: 

 

Question ID : 8970322479 
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Status : Answered 

Chosen Option : 3 

Q.115  

Ans  A.  

 B.  

 C.  

 D.  

 
Question ID : 8970322417 

Status : Not Answered 

Chosen Option : -- 

Q.116  

Ans   A.  

 B.  

 C.  

 D.  

Question ID : 8970322473 

Status : Answered 

Chosen Option : 3 

Q.117  

Ans A.  

 B.  

 C.  

D.  

Question ID : 8970322474 

Status : Answered 

Chosen Option : 3 

C.  

 D.  

 
Question ID : 8970322449 

Status : Not Answered 

Chosen Option : -- 
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Question ID : 8970322451 

Status : Answered 

Chosen Option : 2 

Q.120  

Ans   A.  

 B.  

 C.  

 D.  

                                                                                                 Question ID : 8970322488 

Status : Answered 

Chosen Option : 2 

Q.121  

Ans A.  

 B.  

C.  

 D.  

                                                                                                Question ID : 8970322477 

Status : Answered 

Chosen Option : 4 

Q.122  

Ans A. 

 

 

Question ID : 8970322475 

Status : Answered 

Chosen Option : 1 

Q.123 
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Ans   A.  

 B.  

 C.  

 D.  

 
Question ID : 8970322413 

Status : Answered 

Chosen Option : 3 

Q.124  

Ans A.  

B.  

C.  

D.  

Question ID : 8970322467 

Status : Answered 

Chosen Option : 1 

Q.125  

Ans 
A. 

 

B.  

C.  

D.  

Question ID : 8970322518 

Status : Answered 

Chosen Option : 4 

Q.126  

Ans   A.  

 B.  

 C.  

 D.  

 
Question ID : 8970322455 

Status : Not Answered 

Chosen Option : -- 

Q.127 
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Question ID : 8970322456 

Status : Answered 

Chosen Option : 4 

Q.128 A 25-KVA transformer has 500 turns on the primary and 50 turns on the secondary winding. The primary is 
connected to   a 3000-V, 50-Hz supply. Find the full-load primary and secondary currents. 

Ans 
A. 

 

B.  

C.  

D.  

                                                                                                                                                                  Question ID : 8970322519 

Status : Answered 

Chosen Option : 4 

Q.129  

Ans  A.  

 B.  

 C.  

 D.  

                                                                                                                          Question ID : 8970322534 

Status : Answered 

Chosen Option : 1 

Q.130  

 
 

Question ID : 8970322486 

Status : Answered 

Chosen Option : 1 
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Q.131  

Ans A.  

B.  

C.  

D.           Question ID : 8970322446 

Status : Not Answered 

Chosen Option : -- 

Q.132  

Ans   A.  

 B.  

 C.  

 D.  

                                                                                                                                                  Question ID : 8970322472 

Status : Answered 

Chosen Option : 2 

Q.133 A long transmission line has a large capacitance. If such a line is open-circuited or 
connected to the very light load at the receiving end, the magnitude of the voltage at the receiving 
end becomes higher than the voltage at the sending end. Such a phenomenon is called: 

 

Ans   A.  

 B.  

 C.  

D.                                                                                                   Question ID : 8970322480 

Status : Answered 

Chosen Option : 3 

Q.134  
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Status : Answered 

Chosen Option : 1 

Q.135  

Ans   A.  

 B.  

C.  

D.                                                          Question ID : 8970322543 

Status : Answered 

Chosen Option : 3 

Q.136  

Ans  A.  

B.  

 C.  

 D.  

                                                                          Question ID : 8970322505 

Status : Answered 

Chosen Option : 1 

Q.137  

Ans A.  

B.  

 C.  

 D.  

                                                                                                            Question ID : 8970322542 

Status : Answered 

Chosen Option : 2 

Q.138  

Ans   A.  

 B.  

 C.  

 D.  

                                                                                                             Question ID : 8970322428 

Status : Answered 

Chosen Option : 4 

Q.139  

Ans 
.  



 

 

Q.140  

Ans   A.  

 B.  

C.  

 D.  

 
Question ID : 8970322402 

Status : Answered 

Chosen Option : 4 

Q.141  

Ans A.  

B. energy need not be spent, though energy is required to maintain it. 

C. energy must be spent, though no energy is required to maintain it. 

D.                                                                                   Question ID : 8970322463 

Status : Answered 

Chosen Option : 2 

Q.142  

 
 

 
Question ID : 8970322515 

Status : Answered 

Chosen Option : 3 

Q.143 Let L be the inductance of the system, C be the capacitance of the system, i be the instantaneous value of 
arc current, and v be the instantaneous value of capacitor voltage, which appears across the breaker when it opens. 
The prospective voltage or arc voltage is determined as: 

 



 

 

 

 

 
Ans A.  

B.  

C.  

D.                         Question ID : 8970322421 

Status : Answered 

Chosen Option : 4 

Q.145  

Ans 

                                                   Question ID : 8970322440 
Status : Answered 

Chosen Option : 4 
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Question ID : 8970322531 

Status : Answered 

Chosen Option : 1 

Q.147  

                                                                                                 Question ID : 8970322414 
Status : Answered 

Chosen Option : 1 

 
 

Ans  A.  

 B.  

 C.  

 D.  

 
Question ID : 8970322510 

Status : Answered 

Chosen Option : 1 

Q.149  

Ans   A.  

B.  

 C.  

 D.  

 
Question ID : 8970322502 

Status : Not Answered 

Chosen Option : -- 



 

 

Q.150 

 
 
 
 
 
 

Ans A.  

B.  

C.  

D.  

Question ID : 8970322457 

Status : Answered 

Chosen Option : 2 

 

Section : General Knowledge_Awareness 
 

Q.1 The first Satyagraha was started in Champaran, Bihar in ____. 

Ans   A. 1929 

 B. 1907 

 C. 1922 

 D. 1917 

 
Question ID : 8970322567 

Status : Answered 

Chosen Option : 2 

Q.2 In computer terminology, what does A stand for in ALU? 

Ans   A. Allocate 

 B. Automatic 

 C. Arithmetic 

 D. Access 

 
Question ID : 8970322569 

Status : Answered 

Chosen Option : 3 

Q.3 What does the term 'MFN' mean in the context of the World Trade Organisation? 

Ans   A. Most Finance-friendly Nation 

 B. Most Friendly Neighbour 

 C. Most Friendly Nation 

 D. Most Favoured Nation 

 
Question ID : 8970322558 

Status : Answered 

Chosen Option : 4 

Q.4 The Reserve Bank of India (RBI) rejected the proposed and much talked about merger plan 
between Indiabulls Housing Finance and ______ bank in October 2019. 
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Ans   A. Karnataka 

 B. Dhanlaxmi 

 C. Karur Vysya 

 D. Lakshmi Vilas 
                                                                                                  Question ID : 8970322560 

Status : Answered 

Chosen Option : 4 

Q.5   India slipped down ten places to be ranked ______ in the annual Global Competitiveness 
Index 2019. 

Ans  A. 68th 

 B. 75th 

 C. 55th 

 D. 58th 
                                                                                      Question ID : 8970322561 

Status : Not Answered 

Chosen Option : -- 

Question ID : 8970322554 
Status : Answered 

Chosen Option : 4 

Q.7   India’s debutant ______ scripted history when she became the first Indian female boxer in 18 
years to enter the finals of Women’s World Boxing Championship in her maiden appearance. 

Ans   A. Lovlina Borgohain 

 B. Mary Kom 

 C. Manju Rani 

 D. Jamuna Boro 
                                                                                                Question ID : 8970322556 

Status : Answered 

Chosen Option : 3 

Q.8 Name the river which originates in Madhya Pradesh and crosses the Tropic of Cancer twice. 

Ans   A. Ghaggar 

 B. Luni 

 C. Banas 

 D. Mahi                                                                                                                          Question ID : 8970322565 

Status : Not Answered 
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Chosen Option : -- 

Q.9   Mukesh Ambani topped 'Forbes' Richest Indian 2019' list while _______ secured the second 
position. 

Ans   A. Samprada Singh 

 B. Uday Kotak 

 C. Pallonji Mistry 

 D. Gautam Adani 

 
Question ID : 8970322559 

Status : Answered 

Chosen Option : 4 

Q.10 Justice Inderjit Mahanty of Bombay High Court became Chief Justice of ______ High Court 
in October 2019. 

Ans   A. Haryana 

 B. Punjab 

 C. Rajasthan 

 D. Allahabad 

 
Question ID : 8970322563 

Status : Not Answered 

Chosen Option : -- 

Q.11 Which of the following name of a reptile is also a computer programming language? 

Ans   A. Black Mamba 

 B. King Cobra 

 C. Black Viper 

 D. Python 

 
Question ID : 8970322570 

Status : Answered 

Chosen Option : 4 

Q.12 The Royal Swedish Academy of Sciences awarded the Nobel Prize in Economics 2019 to 
Indian-American Abhijit Banerjee, his wife, Esther Duflo, and Michael Kremer of United 
States for their ‘experimental approach to alleviating ______ _. 

Ans   A. global racism 

 B. global terrorism 

 C. global inequality 

 D. global poverty 

 
Question ID : 8970322552 

Status : Answered 

Chosen Option : 3 

Q.13 ______ earthquakes are produced due to sliding of rocks along a fault plane. 

Ans  A. Tectonic 

 B. Volcanic 

C. Explosive 
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 D. Collapse 

 
Question ID : 8970322564 

Status : Answered 

Chosen Option : 4 

Q.14 As per the Constitution of India, to be eligible for appointment as High Court Judge a 
person should have _____ years of experience of holding judicial office in India. 

Ans   A. 5 

 B. 10 

 C. 7 

 D. 3 

 
Question ID : 8970322562 

Status : Answered 

Chosen Option : 3 

Q.15 In October 2019, Prince William and Kate Middleton, Britain's Duke and Duchess of 
Cambridge, arrived in ______ upon the request of the United Kingdom Foreign and 
Commonwealth Office. 

Ans   A. Baluchistan 

 B. Nepal 

 C. Afghanistan 

 D. Pakistan 

 
Question ID : 8970322553 

Status : Answered 

Chosen Option : 2 

Q.16 During the lifetime of Gautam Buddha, ______ great Mahajanpadas existed in the 7th and 
early 6th centuries BC. 

Ans   A. 19 

 B. 13 www.exammix.com 

 C. 16 

 D. 17 

 
Question ID : 8970322566 

Status : Not Answered 

Chosen Option : -- 

 
Question ID : 8970322557 

Status : Answered 

Chosen Option : 1 

http://www.exammix.com/


 

 

 

Q.18 The Swadeshi Movement was a consequence of the announcement of the partition of 
Bengal by ____ _. 

Ans   A. Lord Mountbatten 

 B. Lord Curzon 

 C. Lord Ripon 

 D. Lord Wavell 

 
Question ID : 8970322568 

Status : Answered 

Chosen Option : 2 

Q.19 The ‘India Sports Summit – Fitness: $10 Billion Opportunity’ was held on 10 October 2019 in
 ______ _. 

Ans   A. Bengaluru 

 B. Mumbai 

 C. New Delhi 

 D. Ahmedabad 

 
Question ID : 8970322555 

Status : Answered 

Chosen Option : 3 

Q.20 Who was elected as the new president of Tunisia after a landslide victory in October 2019? 

Ans   A. Beji Caid Essebsi 

 B. Kais Saied 

 C. Nabil Karoui 

 D. Zine El Abidine Ben Ali 

 
Question ID : 8970322551 

Status : Answered 

Chosen Option : 4 

 

Section : Reasoning 
 

Q.1 

 
 
 

Ans   A.  

 B.  

 C.  

 D.  

 
Question ID : 8970322580 

Status : Answered 

Chosen Option : 2 

Q.2 

 
 
 

Ans 
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Question ID : 8970322588 

Status : Answered 

Chosen Option : 4 

Q.3 Sachin and Anil are brothers. Nikita's daughter is sister of Sachin. How Anil's father is related 
to Sonam? 

 Ans A. Brother 

 B. Husband 

 C. Son in law 

 D. Son 



 

 

   

Q.4 Given below is a question followed by two statements. Analyse and decide whether the question 
can be answered from the given statements. 

Question: Who is Ram’s father? 

Statement I: Ram is brother of Sohan. 
Statement II: Manoj is father of Sohan’s sister Anu. 

Ans   A. Statement I and II together are not sufficient 

 B. Statement I and II together are sufficient 

 C. Statement II alone is sufficient 

 D. Statement I alone is sufficient                                                                                                 Question ID : 8970322574 

Status : Answered 

Chosen Option : 2 
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Q.6 Given below is a question followed by two statements. Analyse and decide whether the 
question can be answered from the given statements. 

 

Question: What is the age of Prince? 
 

Statement I: Prince is younger than Ramesh.Statement II: Sohan is elder brother than 
Prince 

Ans   A. Statement II alone is sufficient 

 B. Statement I and II together are sufficient 

 C. Statement I and II together are not sufficient 

 D. Statement I alone is sufficient                                                                                    Question ID : 8970322575 

Status : Answered 

Chosen Option : 3 

Q.7 In a certain code GARMENT is written as TNEMGAR. How will REPLACE be written in that 
code? 

Ans   A. ECALERP 

 B. EACLREP 

 C. ECALREP 

 D. ECALRPEv                               

 

Q.8 
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Ans  A.  

 B.  

 C.  

 D.                                                                                                                     Question ID : 8970322572 

Status : Answered 

Chosen Option : 1 

 

 
 
 
 
 
 
 
 

Ans   A.  

 B.  

 C.  

 D.  

Question ID : 8970322573 

Status : Answered 

Chosen Option : 4 
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Q.11 Given below are two statements followed by two conclusions labelled I and II. Assuming that 
the information in the statement is true, decide which conclusion(s) logically and definitely 
follow(s) from the information given in the statements. 

 

Statements: All blades are motors. All 
motors are jugs. 

 

Conclusion I: All jugs are blades. 
Conclusion II: Some blades are jugs. 

Ans   A. Neither conclusion I nor conclusion II follows 

 B. Only conclusion II follows 

 C. Both conclusions I and II follow 

 D. Only conclusion I follows 

 
Question ID : 8970322585 

Status : Answered 

Chosen Option : 3 
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Q.13 Select the option that is related to the third word in the same way as the second word is 
related to the first word. 

 

Force : Newton : : Potential : ? 

Ans  A. Volt 

 B. Pascal 

 C. Mho 

 D. Ohm 

 
Question ID : 8970322582 

Status : Answered 

Chosen Option : 1 

Q.14 Select the option that will correctly replace the question marks (?) in the series. 
 

113, 148, 176, 197, ? 

Ans   A. 229 

 B. 227 

 C. 211 
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D. 219 

 

Question ID : 8970322579 

Status : Answered 

Chosen Option : 3 

 
 

 
Ans   A.  

 B.  

 C.  

 D.  

 
Question ID : 8970322571 

Status : Answered 

Chosen Option : 2 

Q.16 Select the option that will correctly replace the question marks (?) in the series. 
 

37, 52, 74, 103, ? 

Ans  A. 139 

 B. 145 

 C. 149 

 D. 119 

 
Question ID : 8970322578 

Status : Answered 

Chosen Option : 1 



 

 

Q.17 Select the option that is related to the third word in the same way as the second word is 
related to the first word. 

 

Frog : Croak : : Monkey : ? 

Ans   A. Chirp 

 B. Beat 

 C. Gibber 

 D. Mew 
                                                          Question ID : 8970322581 

Status : Answered 

Chosen Option : 3 

Q.18 Select the option that will correctly replace the question mark (?) in the given series. 



 

 

 

 

A, G, M, S, ? 

Ans   A. Z 

 B. W 

 C. X 

 D. Y 

 
Question ID : 8970322576 

Status : Answered 

Chosen Option : 4 

Q.19 Select the option that will correctly replace the question mark (?) in the series. 
 

BQ, DO, FM, HK, ? 

Ans   A. JJ 

 B. JI 

 C. IJ 

 D. II 

 
Question ID : 8970322577 

Status : Answered 

Chosen Option : 2 

Q.20 Jyoti was facing North. She took left turn at 90° and walked 500 m, and then she took right 
turn and walked 450 m. Finally she took right and walked 900 m. Which direction she is 
facing now? 

Ans   A. South 

 B. West 

 C. North 

 D. East 

 
Question ID : 8970322586 

Status : Answered 

Chosen Option : 4 

 

Section : General Hindi 
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Question ID : 8970322598 

Status : Answered 

Chosen Option : 1 

 Question ID : 8970322600 

Status : Answered 

Chosen Option : 4 

 Question ID : 8970322593 

Status : Answered 

Chosen Option : 2 

 Question ID : 8970322596 

Status : Not Answered 

Chosen Option : -- 
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 B. चAपाि ण 

 C. गVड़³वज 

 D. हरtयगभ' 

 
Question ID : 8970322591 

Status : Answered 

Chosen Option : 1 

 Question ID : 8970322594 

Status : Answered 

Chosen Option : 2 

 Question ID : 8970322597 

Status : Answered 

Chosen Option : 4 

 
Question ID : 8970322592 

Status : Answered 

Chosen Option : 2 

 Question ID : 8970322595 

Status : Answered 

Chosen Option : 2 



 

 

 


